














Q. A person walks 20 km in east direction from his home then he turns 

right and walks 10 km then he turns towards his right and walks 20 km 

again now he walks in south direction for 10 km and finally took a left turn 

and walks 20 km to reach his office.

Q. If he travel at the speed of 15 km per hour and take a halt of 5 minute in 

each turn then how many time he will take to reach his office ?

Question -8



Find the option which should replace (?)

H : 8 :: E : ?

(A) 8

(B) 6

(C) 27
(D) 14



Find the option which should replace (?)
16 + 39 = 16

72 + 81 = 18

49 + 32 = 12

25 + 43 = ?

(A) 17 

(B) 13

(C) 12
(D) 14



Find the MISSING  (?)

245 : 132 :: 256 : ?

(A) 128

(B) 182 

(C) 144

(D) 169



Find the option which should replace (?)

7 : 85 :: ? : ?

(A) 3 : 31

(B) 8 : 113

(C) 5 : 43
(D) 2 : 9



Find the triangle (?)

1. 29
2. 28
3. 27    
4. 30

Kuldeep Mahendras Reasoning Daily Class 8:30 PM



Q Which number will replace the question mark ?

(A) 104 (B) 105

(C) 51 (D) 57

2 1 4

7 14 11

41 195 ?



Q Which number will replace the question mark ?

(A) 4 (B) 3

(C) 1 (D) 2

47 40 50 43

23 20 22 19

20 21 1 ?



Q Which number will replace the question mark ?

(A) 3 (B) 7

(C) 2 (D) 1

4 2 5

3 3 10

6 9 4

8 6 ?



Q  Which number will replace the question mark ?

(A) 42 (B) 32

(C) 52 (D) 22

4

15 8

48

7

5

6

21

5

7

12

?



Statements :

Some fruits are Sweets.

All Sweets are vegetables.

No cake is a fruit.

Conclusions :

I. Some Sweets are cakes.

II. Some fruits are vegetables.

EXAMPLE

कथन: 
कुछफल मिठाई हैं।

सभी मिठाई सब्जियााँ हैं।

कोई केकफल नही ीं है।

मनष्कर्ष: 
कुछस्वीट केक हैं।

कुछफलसब्जियाीं हैं।



Statements :

No car is a bike.

All bicycles are cars.

No bike is bus.

Conclusions :

I. No bicycle is a bike.

II. No car is bus.

EXAMPLE

कथन: 
कोई कार बाइक नही ीं है।

सभी साइमकलकार हैं।

कोई बाइक बस नही ीं है।

मनष्कर्ष: 
कोई साइमकल बाइक नही ीं है।

कोई कार बस नही ीं है।



Statements :

Only a few spoons are bottles.

All bottles are clocks.

No clock is a stool.

Conclusions :

I. At least some spoons are 
clocks.

II. All spoons can never be 
stools.

EXAMPLE

कथन: 
केवल कुछ चम्मच बोतल हैं।

सभी बोतलें घम़ियाीं हैं।

कोई घ़िी सू्टल नही ीं है।

मनष्कर्ष: 
कि से कि कुछ चम्मच घम़ियाीं

हैं। सभी चम्मचकभी िल नही ींहो

सकते।



Statement –

I. All fruits are lions
II. All lions are foxes
III. Some foxes are beggars

Conclusion –

I. All fruits are foxes.
II. Some fruits are beggars.

EXAMPLE

कथन –
I. सभी फल शेर हैं
II. सभी शेर लोि़िी हैं
III. कुछ लोिम़ियााँ मभखारी हैं
मनष्कर्ष –
I. सभी फल लोि़िी हैं।

II. कुछफल मभखारी हैं।



Statement –

I. All flowers are toys.
II. Some toys are idiots.
III. Some angels are idiots.

Conclusion –

I. Some angels are toys.
II. Some idiots are flowers.
III. Some flowers are angels.

EXAMPLE

कथन –
I. सभी फूल ब्जखलौने हैं।

II. कुछ टॉय इमियट्स हैं।

III. कुछ एीं जल इमियट्स हैं।
मनष्कर्ष –
I. कुछफररशे्त ब्जखलौने हैं।

II. कुछ इमियट्स फूल हैं।

III. कुछ फूलफररशे्त हैं।



Statement -

I. Some pens are books.
II. All temples are books.
III. Some libraries are temples.

Conclusion -

I. Some libraries are pens.
II. Some pens are temples.
III. Some libraries are books.

EXAMPLE

कथन –
I. कुछ पेन मकताबें हैं।

II. सभी िींमिर मकताबें हैं।

III. कुछ पुस्तकालय िींमिर हैं।

मनष्कर्ष –
I. कुछ पुस्तकालय पेन हैं।

II. कुछ पेन िींमिर हैं।

III. कुछ पुस्तकालय पुस्तकें हैं।



Statement –

I. All bats are lions.
II. No cow is lion.
III. Some camels are cows.

Conclusion -

I. Some lions are camels.
II. No camel is bat.
III. Some bats are cows.

EXAMPLE

कथन –
I. सभी चिगाि़ि शेर हैं।

II. कोई गाय शेर नही ीं है।

III. कुछऊीं ट गाय हैं।
मनष्कर्ष –
I. कुछ शेर ऊीं ट हैं।

II. कोई कैिल बैट नही ीं है।

III. कुछ चिगाि़ि गाय हैं।



There are five members in a family, R is brother of T, M is
sister of R, K is brother of M, W is father of T.

पररवार िें पाींच सिस्य हैं, R, T का भाई है, M, R की बहन है, K, M का भाई
है, W, T के मपता हैं।

Q.(1) How many males members are there in a family?

पररवार िें मकतने पुरुर् सिस्यहैं?

(A) 2 (B) 4

(C) 3 (D) 3 or 4



Q.(2) Kalyani is mother-in-law of veena who is sister-in-law of
Ashok. Veena has no sibling . Dheeraj is father of Sandeep
who is only brother of Ashok. How Sandeep is related
Kalyani?

कल्याणी वीणा की सास है जो अशोक की मसस्टर इन लॉ है। वीना के पास
कोई भाई-बहन नही ीं है, धीरज सींिीप का मपता है जो अशोक का एकलोटा
भाई है। सींिीप कल्याणी से कैसे सींबींमधत है?

(A) Son / पुत्र (B) Son-in-law / िािाि

(C) Brother/ भाई (D) Father / मपता



All the six members of a family A, B, C, D, E and F are

travelling together. B is the son of C but C is not the mother

of B. A and C are a married couple. E is the brother of C. D is

the daughter of A. F is sister of B.
एक पररवार के सभी छह सिस्य A, B, C, D, E और F एक साथ यात्रा कर रहे

हैं। B, C का पुत्र है लेमकन C, B की िाीं नही ीं है । A व C मववामहत जो़ेि हैं। E, C
का भाई है। D, Aकी बेटी है । F, Bकी बहन है।
Who among the following persons is the son of A?
मनम्नमलब्जखत िें से कौन साव्यब्जि Aका पुत्र है?
(A) B (B) D

(C)   F (D) E


